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The drawing shows an area model of (8x + 32) square
centimeters. Which pair of expressions represents possible
dimensions in centimeters of the model?

A x,7x + 32

B 8,x+24

C 8x+4

D 4x + 16,4x + 16

?cm

‘47’! cm—-{

(8x + 32) cm?
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A rectangular box is used for
shipping. If all of the dimensions of
the box are doubled, which statement
is true about the new box?

A

The volume is twice the volume of
the original box.

The surface area is twice the
surface area of the original box.
The volume is eight times the
volume of the original box.

The surface area is eight times
the surface area of the original
box.
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The yearly salaries of seven employees
at a department store are listed below.
$26,000 $28,500 $32,000 $37,500

$37,500 $46,500 $49,000
Which statistical measure is most
affected if the $49,000 employee is
promoted to a position with a salary
of $65,000?

A mean C mode

B median D interquartile
range




